
 

Old Pink Cocoon and Cap di B.Ajroldi 

Abbreviations/references: 
K3tog = knit 3 together 
SK2P=Slip 1, k2tog, pass sl st over 
p = purl 
Stockinette stitch 
Garter stitch 
RS  right side 
 
Eyelet stitch: ( on an odd number) 
R1 = * k2 tog* rep to the last 1 st, k1 
R2 = *p1,  p1 picking up the yarn between two stitches* rep to the last 1 st, p1 
R3 = knit 
R4 = purl 
R5 = knit 
R6 = purl 
Repeat  these 6 rows for pattern 
 

 
Waves of Grain lace stitch (multiple of 17 st + 1) 

 

Materials: 
150 gr (3 skein)  Cashsoft Baby DK Rowan 
130m x 50 gr 
Tapestry neddle 
 US 7 (4,5mm) straight or circular needle 
Gauge :  22st x 30 rows 
 
Finished Measurements: 
Lenght  54 cm 
Width  32 cm 
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Row 1 (RS) *K10, yo, k1, yo, k3, SK2P; rep from *, end k1.  
Row 2 and all WS rows Purl. 
Row 3 *K11, yo, k1, yo, k2, SK2P; rep from *, end k1. 
Row 5 *K1, k3tog, k4, yo, k1, yo, k3, [yo, k1] twice, SK2P; rep from *, end k1.  
Row 7 *K1, k3tog, k3, yo, k1, yo, k9; rep from *, end k1. 
Row 9 *K1, k3tog, k2, yo, k1, yo, k10; rep from *, end k1. 
Row 11 *K1, k3tog, [k1, yo] twice, k3, yo, k1, yo, k4, SK2P; rep from *, end k1. 
Row 12 Purl.  
Rep rows 1–12 once more. 
Rows 13–16 Rep rows 1–4.  
Row 17 *K12, [yo, k1] twice, SK2P; rep from *, end k1. 
Row 18 Purl. 
 
INSTRUCTIONS 
Cast-on 103 st, knit 3 rows in garter stitch 
Continuing in Waves of Grain lace stitch , repeated R1-R18 once 
Continuing in stockinette stitch for 10 cm (4 inc) 
Changed in Eyelet stitch,  repeated R1-R6 for  twelve (12) times 
Decreasing rows: 
R1 = *k2tog* rep to last 3 st, k3tog 
R2 = purl 
R3 = *k2tog* across row 
R4 = purl 
R5 =*k2tog* across row 
R6 = purl 
Cut the yarn and thread a long wool needle, pass the needle between the stitches, tighten and sew the bag. 
 

 

Old pink hat 

 

 
 

Cast on 55 st, knit 6 rows in stockinette stitch, in the last row increase 6 st (61) 
Continuing in Eyelet stitch, repeated  R1-R6 for six (6) times 
Decreasing rows: 
R1 = *k8, k2tog* for six times, k1 (55) 
R2 = only row in wrong side = purl 
R3 = *k7, k2tog* for six times, k1 (49) 
R5 = *k6, k2tog* for six times, k1 (43) 
R7 = *k5, k2tog* for six times, k1 (37) 
R9 = *k4, k2tog* for six times, k1 (31) 
R11= *k3, k2tog* for six times, k1 (25) 



R13 = *k2, k2 tog* for six times, k1 (13) 
R15 = k5, k2tog, k6 (12) 
R16 = purl 
R17 = k6, put  on holder, k6, with dpn , continue on these six stitches , make   I-Cord for 9-10 inc 
Take 6 stitch on holder, make   I-Cord for 9-10 inc 
Sewing the back of the hat. 
 
 
 

Sorry for my poor  English………… 
 
 
Barbara 
 


